13

100 100

13.1
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Q1

Fe=5
F = k=52 (13.1)
F; Q1,Q2;
K; r;
F,= leQz leQz o (13. 2)
Fi=—Fp=— Q1Q2 Q2 = szQl Fop = szQl ro (Fip=—Ta)
Fz,Qz Fi:Q1
ra; Q1 Q2
rar; Q2 Q1
Fo,
Q>
Fi=-F> (13.3)
(13.1)
Q1 Q> Q:1Q2 Fi1 Fs
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Q1Q2

k
esu(
(13. 1)
k= 7 = 8.98755179 x 10°
€0 8.85418782 x 102

(13.1) k

k=8.98755179x10° k=1
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1[0] = 0.12345[kgm/s?]

1[N] = 1[kgm/s?]
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[0]

k=14r



k =8.98755179 x 10°

o2, (13. 4)

- 47[80r2

13.2
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gE

E

lo
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13.3

W=-|F-ds

E

(13. 4)
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(13.5)

(13. 6)

(13.7)
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W=—[nqE-ds

E)

€DBA=—fiE-dS

®BA B A

rotE=0

?BA

(13. 10)

€DBA=—§E\E°d8=—(§2E~ds+§gE-ds)

[SE-ds=—[pE-ds

Pro=—pE-ds, pso=—[gE-ds
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(13.9)
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@BA = @BO — P A0

p=—|,E-ds

13.4

10

op - op - 0
E=-gradp =-vp=—(5i+5j+5K

E 7
E (13.13)

(13.12)
(13.13)
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13.5

p p
[ / ] P XYZ
p(X,Y,2) dxdydz
p(X,Y,2)dxdydz
Q dv = dxdydz
p(X,y,2)dv
Q= |y pav (13. 14)
13.6
(13.7) &g
D=—-
~ 4qr? Fo (13 15)
D =¢oE (13. 16)
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ds D
CI):st-dS (13.17)
()
r Q
D dS
D - dS = DdS cos0 = DdS
D 7
Arr?
D = Q 2 _
=7z X4nr-=Q
Q
dS D
( 13.1
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\4

N

. ’
N dsS
N dS cos(D,dS)
13.1 D dS
®=[;D-dS=Q
(13. 14)
®=[.D-dS=], pdv
(13. 16)
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(13. 18)

(13. 19)

(13. 20)



13.7

(11. 27)

JsA-dS =1, divAdv

(13. 20)
dvE=v-E=%&
(13. 13)
) 8%p 8%p A

i 2 _— L
divgradep =vep ==z + 52t =%
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(13. 21)

(13.22)
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13.8

(1)
Eg =—Vgq
Eq;
(2)
V- Eg = /é_go
Py
(3)
Vg = —é_i

(13. 24)
Pg s

0’

(13. 26)
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